10019342 - RTS 400 REQ




Pos| Teile-Nr. Benennung Menge
1 201896 Anker 1
2 (201898 Feldpaket 1
3 10021901 Schaltwippe 1
5 708213 Steckergehause 1
6 219068 Linsenschraube 3,5 x 25 mm 2
7 10021835 Kappe 1
8 201900 Elektronik 1
9 (201902 Kohlehalter mit Kohle (Paar) 230V 1
10 (202388 Gehduse 1
11 (228584 Linsenschraube 3,5 x 14 mm 2
12 450508 Gummiring 1
13 228672 Rillenkugellager 1
14 1489213 Luftfihrungsscheibe 1
15 (219031 Linsenschraube 3,5 x 10 mm 2
16 |469328 Ventilator 1
17 (219047 Linsenschraube 3,5 x 8 mm 1
18 (10022448 Einlegeteil 1
19 |10019350 Lagerdeckel 1
20 |489184 Manschette 1
21 453707 Spannband 2
22 1400884 Passscheibe 1
23 (401525 Rillenkugellager 1
24 (204471 Sicherungsring 1
25 (10028628 Sauglufter 1
26 (489185 Platte 1
27 1400528 Linsenschraube 4,0 x 30 mm 3
28 201904 Lagerflansch 1
29 401150 Linsenschraube 1
30 493720 Tischplatte 1
31 (401063 Linsenzylinderschraube 4
32 |400663 Linsenschraube M4 x 10 4




